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1) Choose the correct sentence (3u=fe)
A). All of it depend on you

B). All of it are depending on you

C). All of it depends on you

D). All of it are depended on you
e a3 203E Ted (At

71f6% Tesz C). All of it depends on you,

2) Slow and steady ----- the race. (Fwf®)
A). win

B). wins

C). has won

D). won

S 93 reE Ted A
5% Teaz B). wins,

3) 'Subject-Verb Agreement' refers to --- (3wfer)
A). person only

B). number, person and gender

C). number and person

D). number only

ol @ AraE Ted (e

75 @< C). number and person,

4) You are the man who ----- always troubled me. (Z=fe)
A).is

B). have

C). has

D). were

ol @7 Arae T (e

9% T@az C). has,

5) Four and four ----- eight. (2waf®)
A). makes

B). made

C). make

D). are

ol @ AraE Ted (e

5% Tesz A). makes,
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6) The Headmaster and Secretary ----- present at the last meeting. (2=f®)
). is

). was
C). have
D). were

Al @3 &0 Ted (et
7o Tess B). was,

o >

7) Choose the correct words to complete the sentence ------ in the field is feeling sick. (2=fe)
A). One of the player

B). One of the players

C). Most of the players

D). Most of the player

e a3 203E Tes (et

>f5% T@as B). One of the players,

8

~

Two-thirds of the children ------- present in the function. 3w=fe)
.is

B). was

C). were

D). have

e @2 203E Ted At

3% Taas C). were,

>
~ ~— ~—

9) There ----- twelve months in a year (3wf®)
A). were

B). was

C). are

D). have

At 9% 209 TeF (e

5% Taas C). are,

10) Take five lakhs ------- a good amount. (Afe)
A). are

B). is

C). have

D). were

Sl @2 &AraE Ted (A

5 Taas B). is,
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11) The principal along with his students ------ planting trees of two hours. (2x=fe)
A). have been

B). has been

C).is

D). are

ol @ &rae Ted (e

5f6% Tw<: B). has been,

12) Ram as well as Rahim ------ there (2fe)
A). were

B). was

C). has

D). have

At 9% 20aE e (e

Ao Tess B). was,

13) One of the crucial ------ traffic jam. (2=fe)
A). problems is

B). problems are

C). problems ware

D). problem is

ol @ &rae Ted (e

71f6% T3 A). problems is,

14) Twenty years ------ since my mother died. (25f®)
A). has passed

B). have passed

C). pass

D). passed

ol @B A TS (e

5% Twas B). have passed,

15) ------- there any cars on the street? (2:=(%)
A). s

B). Are

C). Am

D). Isn't

ol @ &rae Ted e

w5 Taa B). Are,
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16) Educating all people ------ a mammoth task. (3waf®)
A). are

B). is

C). be

D). have

o ©3 2ted e e

5 Taae B). is,

17) Many a man ----- succumbed to such temptation. (2:fe)
A). get

B). are

C). have

D). has

At 9% 20aE e (e

9% Teaz D). has,

18) Choose the correct sentence (2= ()

A). One of the boys is meeting me today

B). One of they boy is meeting me today

C). One of the boys are meeting me today

D). One of the boy's is meeting me today

o ©3 2teE Ted e

5f3< Twaz A). One of the boys is meeting me today,

19) A basket of eggs ------ sold. (3wEfe)
A). did

B). been

C). were

D). was

ol @B A TS (e

9% Teaz D). was,

20) Twenty thousand roses ------- nothing in comparison to this marigold. (2=f%)
A).is

B). are

C). have

D). be

e @2 203E Ted (At

w5 Twaz B). are,
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21) Bread and butter ------ a popular weekend breakfast. (3wfe)
A). was

B). are

C). were

D). is

o ©3 2ted e e

3% Tawz D). is,

22) The young entrepreneur as well as her sales team members ------ praise. (33fe)
A). deserve

B). deserves

C). has deserved

D). deserving

At 9% 20aE e (e

A< Teds B). deserves,

23) Reading novels ---- my favorite pastime. (2=f®)
A).is

B). are

C). were

D). has

o ©3 2teE Ted e

5% Taa A). is,

24) Two-thirds of the mega city ----- (=)

A). have been destroyed by dynamite

B). have destroyed by dynamite

C). has been destroyed by dynamite

D). had destroyed by dynamite

ol @B A TS (e

75 Teas C). has been destroyed by dynamite,

25) At least one of the students 00000000 full marks every time. (3zcfe)
A). get

B). are getting

C). gets

D). have got

ol ©3 2ted e e

7o Tess C). gets,
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26) The files of any computer [ vulnerable to electronic age thieves. (2:=fe)
A).is

B). are

C). was

D). has been

o ©3 2ted e e

W7o Tes B). are,

27) Better transportation 0000 commerce and enabled larger flows of supplies. (Z=fe)
A). has increased

B). has decreased

C). will increase

D). will decrease

ol @B Aad Tea (e

7f5% Teqs A). has increased,

28) How many engineering 00 00 there in Bangladesh? (2:=fe)
A). university, is

B). universities, are

C). university, is

D). university, are

2[99 ©@4s D). university, are,

w6 T3 B). universities, are,

29) Choose the correct sentence: (33)
A). Everybody have gone there

B). Everybody are gone there

C). Everybody has gone there

D). Everybody has went there

ol @B Aae Ted (e

71f5% ©es3 C). Everybody has gone there,

30) Choose the correct sentence: (=)

A). Three-fourth of the road is pitched.

B). Three-fourths of the road were pitched.

C). Three-fourths of the road has been pitched.

D). Three-fourth of the road was pitched.

ol @ &rae Ted e

7o Tess C). Three-fourths of the road has been pitched.,
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